UG/5th Sem/ECO/G/21(CBCS)

UG 5th Semester Examination 2021

ECONOMICS (General)
Paper : SEC-3
(Contemporary Economic Issues)
Full Marks: 32 (CBCS) Time : Two Hours
The figures in the margin indicate full marks. Candidates are required to

give their answers in their own words as far as practicable.

Group: A

Answer any four of the following: 2x4=8
1. What are the instruments of Fiscal policy of the Government of India?

What do you mean Fiscal deficit?

Distinguish between tax and nontax revenues of the Government of India.

What do mean by planned expenditure?

What is zero base budgeting?
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What are the sources of revenue of the government of India?

Group: B

Answer any four of the following: 4x4=16
7. What are the necessities of Government spending in India?
8. What are the benefits of conducting an Economic Survey?
9. Enumerate the impact of deficit finance on the Indian economy?
10. Highlight the major features of the Union budget of India.
11.Point out the major weaknesses of the tax structure of India.
12. Mention the steps to increase the tax revenue of the government of India.
13.What are the thrust areas of the 2021 Union Budget of India?

14. Briefly discuss the process of calculating wholesale price index (WPI).



Group: C
Answer any one of the following: 8x1=8

15. Discuss the advantages and disadvantages of GST in India.

16.Write a note on center state financial relations.
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